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Exam Exam

: AADHI_30 : 30-05-2019
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Question No. 1

T 5% & 9T Fel 60 ¢, f@H 5 : 6 : 8 & IUT & T T, 50 U 3K 25 & & @
AMA g1 25 U7 & (el HiT w&AqT AT ST

A boy has a total of Rs.60 which is a sum of one rupee, 50 paise and 25 paise coins in the ratio
of 5 : 6 : 8. Find the number of 25 paise coins.

A) 42 B) 48
C) 32 D) 30
Answer Key : B Your Response : Not Answered

Question No. 2

& a5 A A, Iod, HUTS 1 aRT I A Aleeal F Awa axar §; By,
FITST T eRT FeT aTel caferaal o fAsfad #Xar &) 3 @, Tear &7 oRT e
aor gl & FEOd &ar Bl Sl &d 39 digddl & FRdd a6,
foregier starer 3R FifT o & el

0 D)



]
[ §

In the given figure. the circle represents people who visited Bhopal. triangle
represents people who wvisited Kochi. and square represents people who

visited Patna. Which region represents people who visited both Bhopal and
Kochi?

.\E- ),
A) B)
4 1
0 5 D) 5
Answer Key : B Your Response : B (Correct)

Question No. 3

sfer Y darer A gl 1

A) eEIEH B) #HTScIhiieadr
C) uesiss Freel(Thylakoid membranes) D) 3ifeoiierid

Blue green algae contains -

A) Lysosomes B) Mitochondria
C) Thylakoid membranes D) Golgibodies
Answer Key : C Your Response : B (Wrong)

Question No. 4

seret, et 3R F=iAR A Ao B T & 3 g% R



A) AT B) 37%UTTTSl W2l

S

C) 3a#H D) Brgu

Which of these states is bordered by Bhutan, China and Myanmar?

A) Manipur B) Arunachal Pradesh
C) Assam D) Tripura
Answer Key : B Your Response : B (Correct)

Question No. 5

T a1 Rpedt # & 38 3T g, A A9 e aw des F @ war

2l A,
-e.[/h
’” 1A




Choose from the alternatives the figure that best completes the

pattern given below.

ay

A) B)

I i

Answer Key : A Your Response : A (Correct)

Question No. 6

aresh FT AT FHEa R Far &7
A) sAH & T B) drele Hr HACS
C) dTeleh & Fard & Yepfd D) dreleh Hr oeTs

On what factors does the resistance of a conductor depend?

A) All the options B) Thickness of conductor
C) Nature of material of conductor D) Length of conductor
Answer Key : A Your Response : A (Correct)

Question No. 7

IR +y =9 3R x +y =3, A xy' F AT AT W

A) 6 B) 1



C) 2 D) 3

If X3+ y® =9 and x +y = 3, then find the value of 'xy'.

A) 6 B) 1
C) 2 D) 3
Answer Key : C Your Response : Not Answered

Question No. 8

UTAIY] Ak 8 ATl ded I AHE HEAT AR HaT TET, FA: el
A) 6, 2 B) 4, 2
C) 16, 2 D) 16, 3

The group number and period number respectively of an element with atomic humber 8 are-

A) 6,2 B) 4,2
C) 16,2 D) 16, 3
Answer Key : C Your Response : C (Correct)

Question No. 9

SAR-TeT Wg{(Tidal waves) U& et #F frdell R 3TaT (I 3R 3awan) &2
A) g 9] B) dlel IR

C) T aR D) IR SR

How many times do the tidal waves build up and recede (rise and fall) in a day?

A) Twice B) Thrice
C) Once D) Fourtimes
Answer Key : A Your Response : Not Answered

Question No. 10

frfaf@d 7 & Pl 1 IOT FAISTHAT F AT Tee AT §7

A) TeIrR HR B) ©eicd



C) 3maae D) @&

Which of the following properties changes with valency?

A) Equivalent weight B) Density
C) Volume D) Pressure
Answer Key : A Your Response : A (Correct)

Question No. 11

fAfaf@a 7 @ Fia @ 9k tafas ARFEt & g&9fT §2

A) 3= AAE W g & 3URAfd A di9 & B) % & Glel 7 e
dR & I AT

C) e @1 3ufeufd & Ae folsy A 3ol D) aig T adlenlor
I 1 siERoT

Which of the following processes is involved in chemical reactions?

A) Heating copper wire in the presence of air B) Melting of ice to give water
at high temperature

C) Storing of oxygen gas under pressure in a D) Liquefaction of air

gas cylinder
Answer Key : A Your Response : A (Correct)
Question No. 12
I TR & AT carT T Siar g
A) TgFd USE TUTERUT hRIHH B) UNESCO
C) 31y AT W38 D) faed g=asig &Iy

Earth Hour is organized by-
A) United Nations Environment Programme B) UNESCO

C) Earth Hour Foundation D) World Wildlife Fund

Answer Key : D Your Response : Not Answered



Question No. 13

ey R a1v 3er &r Fadar # & A ¥ AuiRe o s awar gl
A) WE B) ATEA(mean) 3R ATRRIHI(median) & 3R
C) #AIH fade= D) sgetsh(mode)

The consistency of a given data can be determined from the value of

A) The range B) Difference between mean and median
C) The standard deviation D) The mode
Answer Key : C Your Response : Not Answered

Question No. 14

ar sTor P 3K Q 31 e T <y FF 9 T 60 Aee 31T 40 Bse &1 967 o & I a7
Q, T8 HY He & AT @er ar € 3R A T 9T & T Sae AT P & @er Jiar g, ar
Sq THT F W 7 fhder gH7T FEem?

A) 48 fAsc B) 36 fA«ie

C) 32 fAsic D) 45 A=

Two taps P and Q take 60 minutes and 40 minutes to fill a cistern separately. If tap Q is open
for the first half time and P alone is open for the remaining time, how long will it take to fill the

cistern?
A) 48 minutes B) 36 minutes
C) 32 minutes D) 45 minutes
Answer Key : A Your Response : Not Answered
Question No. 15
Fofr &1 qot &Y

8, 24, 12, 36, 18, 54, (..)
A) 108 B) 27

C) 72 D) 68



Complete the series.

8, 24, 12, 36, 18, 54, (...)

A) 108 B) 27
C) 72 D) 68
Answer Key : B Your Response : B (Correct)

Question No. 16

TS 3 FT SR 2 WA BSAT a T ¥F T T T 3elr & BT arer 3refeier Sar § 3R
i F FUS sHA BT & TS ¢ $H 3 F AT Al HISC]

A) 4 das B) 61 a3
C) 8m aas D) omr &3

A solid is in the shape of a cone fitted on a hemisphere both with radii 2 cm and height of cone
being equal to its radius. What is the volume of this solid?

A) 41 cmd B) 6mcm?®
C) 8mcem?d D) 27 cm?3
Answer Key : C Your Response : C (Correct)

Question No. 17

I L' & Aded ' g, 'M' F Adew Y 7, 'N' F Adew X, P @ Aded '+ §, A 14 N 10 L
42P2M10 =7

A) 329 B) 243

C) 216 D) 151

If 'L’ stands for '+, 'M' stands for '—' , 'N' stands for 'x', 'P' stands for '+',then 14 N10L42P 2 M
10="°

A) 329 B) 243

C) 216 D) 151



Answer Key : D Your Response : D (Correct)

Question No. 18

Sofr F g1 L

39, 32, 25, 18, 11, (.)
A) 9 B) 1

C) 7 D) 4

Complete the series.

39, 32, 25, 18, 11, (...)

A) 9 B) 1
C) 7 D) 4
Answer Key : D Your Response : D (Correct)

Question No. 19

oF ¥ 9ga P AR Q #ir 3 F 39T 6: 6 YTl IR ¥ 491G, I§ 39T 11: 10 g seam| P
I TAAT Y AT §7
A) 18 a¥ B) 25 ay¥

C) 20 a¥ D) 15 a¥

Six years ago the ratio of ages of P and Q was 6 : 5. Four years hence, it will be 11 : 10. What
is the age of P now?

A) 18 years B) 25 years
C) 20 years D) 15 years
Answer Key : A Your Response : A (Correct)

Question No. 20

Ife fasha e, % AT § ©.500 318 § AR AHfSIT amer 40% &, O F7 FeF A1 d AT



A) %.1800 B) %1250

C) %.1500 D) .1750

If selling price is Rs.500 more than the cost price and the profit earned is 40%, then what is the

cost price?
A) Rs.1800 B) Rs.1250
C) Rs.1500 D) Rs.1750
Answer Key : B Your Response : B (Correct)

Question No. 21

39 WeeT &, o FYel & aIg oY faswd R e §)| 3w Ty (3if) Fr g S aifdd 7 @ wod
39ged gl

Yol
1) & 5%, aBHaT &

2) I B, T5F ¢

IGA=0 P

. T3fr esfrar, o £

Il. $& o=, Jsfar &

A) Fad fasHy || 3uged Bl B) hdel foishy | 3ugerd Bl

C) il fashy | 3R 1l 3ugea Bl D) & ar sy | &1 & 1l 39gerd gl

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some boys are girls.
2) Some students are boys.



Conclusions:
I. All girls are students.
Il. Some students are girls.

A) Only conclusion Il follows B) Only conclusion | follows
C) Both conclusions | and Il follow D) Neither conclusion | nor Il follows
Answer Key : D Your Response : A (Wro:

Question No. 22
fefaf@a & ¥ Fla a1 ST F1 U IR 2
A) FHorATSA B) SrellARE
C) gHerse D) wHrlese

Which of the following is an ore of zinc?

A) Calamine B) Dolomite
C) Hematite D) Cryolite
Answer Key : A Your Response : B (Wrong)

Question No. 23

$H W #, o HY«l & g o sy Ru e §)| 3@ @Asnd 3f) #r gof S arfes &9 @ =
39ged &

hYeT:
1) & 9, 919 ¢
2) ush Rfeedr, s §1

|. o o", e g

Il. ¥ 919, g¢ &l
A) sadl fashy || 3uged gl B) awi fashy | 3R 1l 3ugea Bl



C) shael fasey | 3ugFT g D) & o fasehy | &7 & 1l 3uged &

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some rats are tigers.
2) All cats are tigers.

Conclusions:
I. Some tigers are cats.
Il. Some tigers are rats.

A) Only conclusion Il follows B) Both conclusions | and Il follow
C) Only conclusion | follows D) Neither conclusion | nor |l follows
Answer Key : B Your Response : A (Wrong)

Question No. 24

fRw 1w Rewedl F & e = |
A) 2,8 B). 8, 130
C) 4, 32 D) 6, 72

Find the ODD one out from the given options.

A) 2,8 B) 8,130
C) 4,32 D) 6,72
Answer Key : B Your Response : B (Correct)

Question No. 25
2018 & UScHSA Wl FT HANSTT Hgl haT IR™T AT?
A) HRd B) 3itefora
C) g3l D) &eTar

Where was the Commonwealth Games 2018 held?



A) India B) Australia
C) England D) Canada

Answer Key : B Your Response : B (Correct)

Question No. 26

ar UIsq Teh & b HAA: 45 AN 30 Aete F W TR §| FT GAT dC NH ST H dg W
far Jrar §1 R gy 95T @RT & # sRe # 13 fAee 20 @S e § el 9T &
YT & el X a1 s foram I am?

A) 8.5 fAec B) 12 f&sic
C) 15 fAae D) 10 fAse

Two pipes can fill a tank in 45 and 30 minutes respectively. After sometime the slower pipe was
closed. Then the tank was filled by the other pipe in 13 minutes 20 seconds. When was the
slower pipe closed after start?

A) 8.5 minutes B) 12 minutes
C) 15 minutes D) 10 minutes
Answer Key : D Your Response : Not Answered

Question No. 27

& fAfRaa Fc smor &, 'MASTER' &I 'VIYZOX' for@m Sirar g, o 'STREAM' & @ forar
SIRAT?

A) YZXIOV B) YZOXIV

C) ZYXOIV D) YZXOIV

In a certain code, 'MASTER' is coded as 'VIYZOX'. How is 'STREAM' coded?

A) YZXIOV B) YZOXIV
C) ZYXOIV D) YZXOIV
Answer Key : D Your Response : B (Wrong)

Question No. 28

aE B T I &I AT Afow, T FAe: 20, 48 3K 36 F QAT = | 13, 41 3R




29 AY g &l
A) 727 B) 713

C) 720 D) 187

Find the smallest number that leaves the remainder 13, 41 and 29 on being divided by 20, 48

and 36 respectively.
A) 727 B) 713
C) 720 D) 187
Answer Key : B Your Response : B (Correct)

Question No. 29

BT & TH dqT F T.H9.9(LCM) §:
A) 37T FT AFG.IGHCF) / & &1 A.F.IG(HCF) B) 310 &1 H.J.9(HCF) / &1 &7 o.9.9(LCM)

C) 37T &7 . T.I(LCM) / &I & I.T.I(LCM) D) 37 &7 o.T.9(LCM) / &I &1 H.F.9(HCF)

LCM of a set of fractions is:
A) HCF of numerators / HCF of denominators B) HCF of numerators / LCM of denominators
C) LCM of numerators / LCM of denominators.. D) LCM of numerators / HCF of denominators

Answer Key : D Your Response : B (Wrong)

Question No. 30

X #F Tod FIRFT Fgl 3cdesT alar 87
A) TdfsFH B) 3ifeY #wal
C) faeell D) &

Where in the body are blood cells produced?
A) Appendix B) Bone marrow
C) Spleen D) Heart

Answer Key : B Your Response : B (Correct)



Question No. 31

FT T Y F ATEYH W YHRT & J9aded & d¢ fFerd fHor Far gei?

A) fta fFeor g ymufaa ool aefess B) @9 fovor, 3mafaa faRor & 90 Bt &
gl gl 0T 9T g &l

C) 3mafad fRor e faeifdd gu e Siich D) faela fomvor 3mafaa foheor & FATAR g
g 3R A fomor, smafaa fReor & gA gl
gicl gl

How will the emergent ray be after refraction of light through a glass slab?

A) The emergent ray and the incident rays B) The emergent ray is at 90 degrees to the

are random incident ray

C) The incident ray goes without deflection D) The emergent ray is parallel to the incident

and emergent ray is same as incident ray ray

Answer Key : D Your Response : A (Wrong)

Question No. 32

fafaf@a F & Fle @1 v A@ERY GiEr 82
A) =eyuff giur (Pitcher plant) B) SoIH & Y
C) d= ¥ wells-¢q D) #sYg

Which of the following is a carnivorous plant?

A) Pitcher plant B) All of the options
C) Venus fly-trap D) Sundew
Answer Key : B Your Response : C (Wrong)

Question No. 33

TF Al I G A 3G F 20 9§ F AW B 9T a€ A1g QA F 7Y, 3WR A A a7 g
& Imel g6l T fr Iy R ¥?

A) 15 ay B) 10 ay
C) 12 ay D) 8 a¥



A mother and daughter differ in age by 20 years. Five years hence daughter's age will be half
her mother's present age. How old is the daughter?

A) 15 years B) 10 years
C) 12 years D) 8 years
Answer Key : B Your Response : B (Correct)

Question No. 34

AfRf@a # ¥ 5y "SNaRae #1 JFaF" AT Jar §?

A) cgdeTgich B) e a3/
C) ofheX D) 3%

N

Who is considered as "The father of Biology" ?

A) Leeuwenhoek B) Carolus Linnaeus
C) Lankester D) Aristotle
Answer Key : D Your Response: D (Correct)

Question No. 35

el 9 s & R & & Hefa 82
A) T B) @l
C) f=epar D) difgca

With which of the following fields is Munshi Premchand associated?

A) Dance B) Music
C) Painting D) Literature
Answer Key : D Your Response : D (Correct)

Question No. 36

Afaf@a Aot &7 sraad =T g AfSv]

2, 20, 54, 110, 182



A) 182 B) 54

C) 110 D) 20

Find the wrong number in the following series.

2, 20, 54, 110, 182

A) 182 B) 54
C) 110 D) 20
Answer Key : B Your Response : Not Answered

Question No. 37

HeoT Y g Pler W Iawwr § W <gwr qoiaar 3sead lar 8, Sel SEHn HHER F It qo
NATHR T 87

A) FeddieX dg B) Ul =g

C) 34 Iy D) 3ATaEAT

Which is the phase of the moon which is a full bright view of the moon, where the moon is
almost perfect round in shape?

A) Gibbous moon B) Full moon
C) Crescent moon D) New moon
Answer Key : B Your Response : B (Correct)

Question No. 38
T 0T T ST (sine) 3 H9aNeT HIOT Y SAT (sine) & 3FIUIT HI AT FgT AT &7
A) YRefRdr(Transparency) B) UR&HTET H@W(Translucent index)

C) 3M™ad«ie(Refractive index) D) 3M9RefIar(Opacity)

What is the ratio of sine of angle of incidence to the sine of the angle of refraction called?
A) Transparency B) Translucent index

C) Refractive index D) Opacity



Answer Key : C Your Response : C (Correct)

Question No. 39

gfe 'NOR' &I 2-3-6 fo@r Sirar g, @ 'REST' & Ha f@r semn?

A) 6-18-5-8 B) 6-19-7-8

C) 6-19-6-7 D) 5-19-5-8

If'NOR' is coded as 2-3-6, then how should 'REST' be coded?

A) 6-18-5-8 B) 6-19-7-8
C) 6-19-6-7 D) 5-19-5-8
Answer Key : B Your Response : B (Correct)

Question No. 40

ferfdsr D i w+ir & g
A) THdr B) s{Islr
C) g@r T D) FaIRIaResN

Deficiency of vitamin D causes-

A) Scurvy B) Beriberi
C) Rickets D) Kwashiorkor
Answer Key : C Your Response : D (Wrong)

Question No. 41

AT N Fr ST 7 95 ST aTell a9 ol g3 HT AT AT g7?

A) TIERE B) X

N

C) Tawgen D) wregeT

What is the name of the longest bone found in the thigh of a human body?
A) Humerous B) Femur

C) Vistula D) Fibula



Answer Key : B

Your Response : B (Correct)

Question No. 42

=R F HHOT ¥ 3T Th HHT Tl &l

A) JTeT 4T 3R &R T

C) =igr 3R e

Mule is a hybrid derived by crossing -

A) Female donkey and a male horse

C) Horse and zebra

Answer Key : D

HoBT T A HATH T g7
A) 14

C) 16

The atomic number of sulphur is-
A) 14
C) 16

Answer Key : C

st & FhT W QO Fwar @ &2
A) 8+ 2

C) 18 - (2 x 9)

B) arerm 3R Siem

D) =R e 3 Arer =t

B) Donkey and zebra
D) Male donkey and a female horse

Your Response : D (Correct)

Question No. 43

D) 18

B) 12
D) 18

Your Response : C (Correct)

Question No. 44

Which of these is NOT a whole number?

A) 8+2

C) 18-(2x9)

B) 6 +5
D) (-6) + (-2)
B) 6+5

D) (-6) = (-2)



Answer Key : B Your Response : B (Correct)

Question No. 45

ag O ¥ B §& AT fifSie, G 8, 12, 18 ¥ fQfSd sy W HAw: 6, 10, 16 AW
Taar @

A) 70 B) 74

C) 146 D) 144

Find the least number when divided by 8, 12, 18 leaving remainders 6, 10, 16 respectively.

A) 70 B) 74
C) 146 D) 144
Answer Key : A Your Response : A (Correct)

Question No. 46

AT IR & HleT AT 3T @A J T 8er g2
A) Tohd B) &Il

C) ¢ D) 319

Which organ of the human body is affected by glaucoma?

A) Liver B) Ears
C) Kidneys D) Eyes
Answer Key : D Your Response : C (Wrong)

Question No. 47
Y @® X & qd 7 @ Ir 8, AR Z @1 X F Sfaior F w@r mr ¥1 Y F ander Z i R w2 g2
A) 3c® qa B) cfaror qd
C) cfaror ufRaH D) 3caR gfeaH

Y is placed to the east of X, and Z is placed to the south of X. What is the direction of Z with
respect to Y?

A) North east B) South east



C) South west D) North west

Answer Key : C Your Response : C (Correct)

Question No. 48

P, Q 3R R & WI9iFe & AT 8, 6 AR 12 faet F ¥ @k &1 WMoge A yoaia dga et
P 3R Q & oy gkl &, @ R Q 3K R, M &t R 3R P % & ¢ 3K e e amr
FH FA W ¢l Mo frder et & g gem?

A) 34/7 &= B) 27/7 &=t
C) 29/7 et D) 22/7 e

P, Q and R can do a project in 8, 6 and 12 days respectively. The project is started with P and Q
working on day 1, Q and R on day 2, R and P on day 3 and so on. In how many days will the
project be completed?

A) 34/7 days B) 27/7 days
C) 29/7 days D) 22/7 days
Answer Key : B Your Response : Not Answered

Question No. 49

31507 < A, STe FT 3T HiT 150% &1 =g =l A, 3HB0T A1 HT Hr 120% g1 IS 3601, arer
3R dg A FoT AT $.86000 &Y, A =g Fr 3T AT AT

A) 2.36000 B) %.34000

C) %.30000 D) ¥.32000

Arun's income is 150% of Bala's income. Income of Chandru is 120% of the income of Arun. If
the total income of Arun, Bala and Chandru is Rs.86000, then what is the income of Chandru?

A) Rs.36000 B) Rs.34000
C) Rs.30000 D) Rs.32000
Answer Key : A Your Response : A (Correct)

Question No. 50

oadr JHayir e i Efer R A2



A) 1950-55 B) 1956-61

C) 1951-56 D) 1952-57

What was the duration of the second five year plan?

A) 1950-55 B) 1956-61
C) 1951-56 D) 1952-57
Answer Key : B Your Response : B (Correct)

Question No. 51

fArfaf@d sl A eI & 9¢ AR A RT v WA #1 3o/ <

P, Q, R, S 3Rk T 7 § 3 3 3rerer 3rewr #RI S¥- Ao, dleadee, SE3m, 91 iR Fiee
FT 3T F §1 57 FRE &F T oA, Whe, Fel, Al 3R &Y §, AT o0 767 & 38 w7 7
?Ipaswﬁa'%,aﬁmugaﬂﬂﬁ%l

i) Q & 9T el 1 Hr 9y gl

i) R & 9/ e #R &, AfheT Arefa agh

V)T & 9 T Flell R ¢, ST & dF Srgdila § 3R o & SRR

v) Sed g gl SR & & aleHdersT ST 39ANET WA E

e T T 4T 872
A) FreT B) &1
C) &g D) sfrem

Read the following information carefully and answer the question given below.

P, Q, R, S and T are friends, and they use different cars—Maruti, Volkswagen, Jaguar, Porsche
and Renault. Colours of these cars are—blue, white, black, red and green, but not necessarily



in the same order.

i) P has an Renault, but it is not green.

ii) Q has a red colour Porsche.

iii) R has a blue car, but not Maruti.

iv) T has a black car, which is neither Volkswagen nor Jaguar.
v) Those who have green car use Volkswagen.

What is the colour of Renault?

A) Black B) Green
C) White D) Blue
Answer Key : C Your Response : Not Answered

Question No. 52

BHIM T ot &7 =T 872
A) HRT THT BR Fel B) $IRd SeIfAUied BT Hall
C) HRd ScAHIf3UC Bix Hell D) $Rd SHIfSUC X HeAl

What is the expansion of BHIM?

A) Bharat Interface for Money B) Bharat Initiative for Money
C) Bharat Intermediate for Money D) Bharat Immediate for Money
Answer Key : A Your Response : A (Correct)

Question No. 53

feu =10 wedr # & 38 Fpa g4, A A9 T av ST @ @
&l

A) B)



O@. .@O

O] D)

.@O

O@.

Choose from the alternatives the figure that best completes the

pattern given below.

@

' R& " X&)
C D
Y, Y,
Answer Key : B Your Response : B (Correct)
Question No. 54
T arv fsredt & ¥ 3reraT @ oAl
A) ABA B) AIF
C) BBG D) AFI

Find the ODD one out from the given options.



A) ABA B) AIF
C) BBG D) AFI

Answer Key : C Your Response : Not Answered

Question No. 55

ST & il Tohohe QST siEr 87
A) e e 3N B) @eR O
C) R. P. R D) Rl andr

Who among the following is NOT a cricketer?

A) Syed Abid Ali B) Sardara Singh
C) R.P. Singh D) Dilip Doshi
Answer Key : B Your Response : D (Wrong)

Question No. 56

ST @ FleT AT I[OT BS[er & et e g2
A) Tordll off & oomit &1 Fler Tl e & B) fREr ot o ofem3it R Al oem &
3ifer grar Bl & gl gl

C) et of ar egam3l &1 T Al 87l & D) HIUW HT AT gAM 180° BIelm B
ST B &l

Which of these properties does NOT hold good in a triangle?

A) Sum of any two sides is greater than the B) Difference of any two sides is less than the
third side third side

C) Sum of any two sides is equal to the third D) Sum of the angles is 180° always
side

Answer Key : C Your Response : C (Correct)

Question No. 57

FDI =T quT 9 T §?
A) Fter SAfeE S B) ®IReT SIAfEeH g0



C) WIRe SRRFC SwaicHT D) %ol f3uifoic seavese

What is the full form of FDI?

A) Federal Domestic Index B) Foreign Domestic Index
C) Foreign Direct Investment D) Federal Deposit Investment
Answer Key : C Your Response : C (Correct)

Question No. 58

e fAR"a Fesmwr #, afe 'TREE' @ 7100 fo@r sar 8, 'FROG' &I 2159 fo@r siar g, 34
ST H 'FREE' & & fo@r srem?

A) 1002 B) 2100

C) 3100 D) 1003

In a certain code, if 'TREE' is coded as 7100, 'FROG' as 2159, how is 'FREE' coded in that
code?

A) 1002 B) 2100
C) 3100 D) 1003
Answer Key : B Your Response : B (Correct)

Question No. 59

TR tfafesd 3 |
A) 9l & FHFT 100% TR e B) ari vfafes 3o
C) wiolal tfafes 3a D) T vfafesw 3

Glacial acetic acid is-

A) 100% acetic acid free of water B) Solidified acetic acid
C) Frozen acetic acid D) Gaseous acetic acid
Answer Key : A Your Response : A (Correct)

Question No. 60




* & TURT I FAT 3TTM?
(7 x 7)3 + (49 x 7)3 x (2401)2 = 7«

A) 5 B) 3

C) 7 D) 8

What comes in the place of *?
(7x7)2+ (49 x7)® x (2401)2=T7*

A) 5 B) 3
C) 7 D) 8
Answer Key : A Your Response : C (Wr

Question No. 61

2019 #, e 3muRa aRAeemt & Readyor & faw HRD #arew @rr Rrfaf@a 7 @
Sl A AT YE Hr TS A2

A) NRP B) STARS

C) NPTEL D) RUSA

In 2019, which of the following schemes was launched by HRD Ministry to fund science

projects?
A) NRP B) STARS
C) NPTEL D) RUSA
Answer Key : B Your Response : Not Answered
Question No. 62
asfre 3R AR Fr 9% Jomel 7 8% Y3 1 39deT frafaw T Srar §?
A) G¥UT &I §6Te & fov B) fS&@d agel 319sir a1fd &l Ak 7 b

C) dlgsl & Tk TAW Ifd ¥ ToAd WA & D) G90T H HH Il & ol
fow

Using brake pads in the brake system of bicycles and automobiles is for what pupose?

A) To increase friction B) To make the vehicle not able to stop its



movement

C) To keep the vehicle moving with uniform D) To decrease friction

speed

Answer Key : A Your Response : A (Correct)

Question No. 63

Rar &g & =or 3R q@ Hr 3 10 A apfra gar 98 AR 3 3 s 10 el
arsfeher T AR AT 915 3T A3 20 el Emsfeher Tomar 3R g ‘A" W gl wha @ &g
'A' 9 39 fhaer fFeeder asfera gari?

A) 40 R B) 20 far

C) 30 freT D) 10 f3afr

Siva left school and cycled 10 km towards east. He then turned right and cycled 10 km and
turned left and cycled 20 km and reached point 'A’. How many kilometers should he cycle from
the school to point 'A'?

A) 40 km B) 20 km
C) 30 km D) 10 km
Answer Key : A Your Response : C (Wrong)

Question No. 64

FART T & W F5 ARG Aewsr 2.5 a¥ & ¥.15000 3R 4 af 7 5.16500 & Sar &1 AT
& AT Hie|

A) 9% B) 8%

C) 6% D) 7%

A certain principal amounts to Rs.15000 in 2.5 years and to Rs.16500 in 4 years at the same
rate of interest. Find the rate of interest.

A) 9% B) 8%
C) 6% D) 7%

Answer Key : B Your Response : Not Answered



Question No. 65
qEY Iquier #, sin 0 F AW FEF 9 gar 87
A 138 -1 B) 1d0

C) 0F -1 D) -1& 1

In the second quadrant, sin 0 varies from:

A) 1to-1 B) 1t00
C) Oto-1 D) -1to1
Answer Key : B Your Response : B (Correct)

Question No. 66

30 O&ed &1 IT0 HY, AT AP H 727 BFed (2) & TF W@
s % forv wafcasm s9gea &

3 2 1 5 2 3

A) B)

O] D)

40 38




Choose the alternative that best replaces the question mark(?) in the

given figure.
A B
) 32 ) 35
0 D)
40 38
Answer Key : C Your Response.: Not Answered

Question No. 67
SITAT O T Qe Fefod Alse Fleh q@RT Fead fhar arr ar?
A) gleT B) arcast 3R fohep

C) Hidffe D) #Retaar

Double helical model of DNA molecule was proposed by -

A) Khorana B) Watson and Crick
C) Morgan D) Nirenberg
Answer Key : B Your Response : B (Correct)

Question No. 68

ey e # Rl avg @1 Rl HeT ©.2000 &, 3K 3/ 20% AR 10% & FARE Feb W =
ST T €1 361 g fshr F{ed A1 Aifaw|

A) %.1700 B) %.1440

C) %.1400 D) %.1520




The list price of an article at a showroom is Rs.2000, and it is being sold at successive
discounts of 20% and 10%. Find its net selling price.

A) Rs.1700 B) Rs.1440
C) Rs.1400 D) Rs.1520
Answer Key : B Your Response : Not Answered

Question No. 69

ATadTeT B S| FHE FAT §?
A) &3 (Hz) B) #eX (m)
C) THs (s) D) ferarame (Kg)

What is the Sl unit of time period?

A) Hertz (Hz) B) Metre (m)
C) Second (s) D) Kilogram (Kg)
Answer Key : C Your Response : A (Wrong)

Question No. 70

30 @eeT & TTT H, AT HF H J9T BFFA (?) F TF | @

E
o
5 O | Qo

N B)

39

0 D)



37

Choose the alternative that best replaces the question mark(?) in the

given figure.
4 1 6 | 8
D

7 |11

A B

) 15 )
39
0 D) 12
37
Answer Key : B Your Response : A (Wrong)

Question No. 71

@ SR @ S § g 3R AT Re 1w w2sT #r 3R &

T ST & ERieT, Teh Wl Weoll Sl ¢l @T & A, R ¥ Z d& (& 3R «=tHar &
fRaon) 9 ol Fr v Wl 9T H @I @ IS {1 FFH A Fel SAC Tgel §§ ¥ IR
SRl A ahg - ugd W gl iR MY & whe dA€ F Ay YE @ ¥ F5F IR
=T 9fF F a-a ¥ @2 A ¥ 9T F 9% W W Fad T AT & @I & §Fr
gl



) R, S ¥ AT T Jgt W3 ¢l
ii) Nl g Ao T B

iii) T & are gq@Rr &g U 8l

iv) 9T & 1Y T WV @37 B
v) W, R & 3mr @=T ¢l

vi) X, T 3R R & € & @er &1

vii) Z T s B

ARR@T A T T 3R 2 & f9 @1 82
A) U B) Y

C) S D) V

Read the following information carefully and answer the question given below.

During an event, a game is being played. For the game, 9 people from R to Z (mix of boys and
girls) have to stand in a vertical row. Boys are wearing black t-shirts and girls are wearing white
t-shirts. The row starts at top and with a white t-shirt. Boys and girls stand alternately in the row.
Each position in the row can be occupied by one person only.

i) R stands seven places before S.

ii) Third white t-shirt is T.

iii) Second boy after T is U.

iv) Fourth place in the row is occupied by V.

v) W stands ahead of R.

vi) X stands between T and R.

vii) Z is a girl.

Who among the following stands between T and Z?

A) U B) Y



C) S D) V

Answer Key : B Your Response : Not Answered

Question No. 72
famT 1 & form w18y Fr "o Y A8 o Fver Srar 87

A) TAI B) 3Ram
C) Fcll I D) 3tATd

Which of the following rivers is also known as the 'River of Sorrow?"

A) Damodar B) Auranga
C) North Koel D) Amanat
Answer Key : A Your Response : A (Correct)

Question No. 73

A) B)

3/5 7/5

O] D)

/7 o7

]



Simplify: Ti+ 1 ih xS
5 35 35

A) B)
3/5 /5
0 D)
317 5l
Answer Key : A Your Response : A/(Correct)

Question No. 74

2020 # G20 REX FFATA ST AT el alell 327 71 & T FlT a1 &2

A) AT B). USA

C) #IRd D) d3¢r 3R«

Which of the following countries is to host the G20 summit in 20207

A) Japan B) USA
C) India D) Saudi Arabia
Answer Key : D Your Response : Not Answered

Question No. 75

Fidh Tl 7 FAT R @l §, SfF A fr Aoy gg I g2

A) @ich FI Rl FI &THAAT & HFROT B) Al W HHATA o oIl & HRO]

C) 3o ®AI H A & FHFROT D) 3+Th Helcd H HR & HROT

Why does a cork float in water while an iron nail sinks?



A) Due to the cork's floating capacity B) Due to the same force acting on both
C) Due to the difference in their forms D) Due to the difference in their densities

Answer Key : D Your Response : D (Correct)

Question No. 76

(0.23)° +[233] +(23. 33]

e BT \f[23 +(23.3)"+(233.3)

A) B)

1/100 100

O] D)

0.1 10

(2.3) +(23.3)" +(233.3)°
(0.23)" +(2.33)" +(23.33)°

Simplify: \/

A) B)

1/100 100

0 D)

0.1 10



Answer Key : D Your Response : Not Answered

Question No. 77

Sy (375%375) +(125x125)-(375x125)
e " (375%x375x375)+(125x125%125)

A) B)
1/3
0
500
T5)+
Simplify: (375X 375)+(125x1
(375%x375x375)+(12
A) | B)
1/3 1/1000
C) D)
500 1/500

Answer Key : D Your Response : Not Answered



Question No. 78

e W T A R T T @ adE ¥ Qo

geaiad : 7 Pres gl : ?

Which number will best complete the relationship given below?

Handball : 7 :: Field Hockey : ?

A) 13 B) 7
C) 14 D)
Answer Key : D Your Response : Not Answered

Question No. 79

100 Hrex 3 120 Hrex o« & IEAT FAr: 18 FHeyAss 3R 15 AeyAds fr 91T A &
g Y NE Toiclr ¥ el @77 F T T gEl H 9N HE0?

A) 7.2 @& B) 10 @3
C) 6.7 Qs D) 8 d%s

Two trains 100 m and 120 m in length are moving in opposite direction, with speeds 18 m/s and
15 m/s respectively. In what time will they cross each other?

A) 7.2 seconds B) 10 seconds
C) 6.7 seconds D) 8 seconds
Answer Key : C Your Response : Not Answered

Question No. 80
ffaf@a F ¥ B 2019 7 IR IoT & FFATT fvar I a1?
A) HAAR f8E B) &g AIE




C) wure H@si D) L. K. 3msarofr

Who among the following was awarded with the Bharat Ratna in 2019?

A) Manmohan Singh B) Narendra Modi
C) Pranab Mukherjee D) L.K. Advani
Answer Key : C Your Response : C (Correct)

Question No. 81

fAmfaf@a & @ Fla @ vwer 3ngfca Hr eafer 82
A) e B) 2R

C) eafey & faRIvar a1 [or D) &

o]

Which of the following is the sound of single frequency?

A) Note B) Noise
C) Timber or quality of sound D) Tone
Answer Key : D Your Response : A (Wrong)

Question No. 82

7% q¥e sAT @ G W 3UR off 315 Fg G W 2 a§ F F@ Jrar QYR s34, $.1750
$r IR W 5% a1ffe T W 4 af 3 9= arelr arelr AR & FAA &1 ag IR A9 AfSw|

A) .1800 B) %.2400

C) %.2500 D) %.1600

A sum lent at 7% per annum will produce as much Simple Interest in 2 years as Rs.1750, lent
at 5% will produce in 4 years. Find the sum.

A) Rs.1800 B) Rs.2400
C) Rs.2500 D) Rs.1600
Answer Key : C Your Response : Not Answered

Question No. 83

T JAT 7 9IS 'a' 3R dEs b’ g1 IR 9l A 20% FA IR dE@S F 10% SR ST g,



dr T 9 HATT T el 'ab' Y Joler # et wfaere gem?
A) 110% B) 80%
C) 88% D) 120%

A rectangle has a width 'a' and length 'b'. If the width is decreased by 20% and the length is
increased by 10%, then what is the area of the new rectangle in percentage compared to 'ab'?

A) 110% B) 80%
C) 88% D) 120%
Answer Key : C Your Response : C (Correct)

Question No. 84

ffaf@a & & Fla @ quaRor a@edis F1 390 3T ¥ die & B & Eor & Qe fRr
ST Wl §?

A) arsdieoT B) aehT GUFHIT
C) TSI 3THdT D) fAEdes

Which of the following separation techniques can be used to separate iron pins from sand?

A) Evaporation B) Magnetic separation
C) Fractional distillation D) Filtration
Answer Key : B Your Response : B (Correct)

Question No. 85

12 ¥ ST AT TF SN Ul F SIS A dTer 316 B GAl F §T H FIET A1 §1 B G
T s[sm JAd RS

A) 1.5 @ B) 4 @Y
C) 6 @r D) 3 @&

A solid cube of side 12 cm is cut into eight smaller cubes of equal volume. The side of the small
cube will be:

A) 1.5cm B) 4cm



C) 6cm D) 3cm

Answer Key : C Your Response : C (Correct)

Question No. 86

SR FEEe #F gy, &I goig & e B
A) SR 3HFd B) uifAfes 3o
C) TraRe 3rFal D) 9 3l

The foul smell of rancid butter is due to-

A) Butyric acid B) Palmitic acid
C) Stearic acid D) Caproic acid
Answer Key : A Your Response : Not Answered

Question No. 87

59 W A, T YA & dl6 it fAsh fow arv §) 39 fAshnl @ g+, S afde s & weiftw
39gd g

h¥eT:

L<R<M<NZ<K

fasehy:
I. L<N
. K> M

. R <N
A) T8l sy 3UgEd & B) &ddl fasey Il 39gea g
C) whadl fasey Il 3uged g D) &aer ey | 3uged B



In this question, a statement is given followed by three conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
LER<M<N<K

Conclusions:
lLL<N
I.K>M
ll.R<N

A) All conclusions are true B) Only.conclusion lll is true
C) Only conclusion Il is true D) Only conclusion | is true

Answer Key : A Your Response : A (Correct)

Question No. 88

A SR favg f@ae Shast arer gge AR SRIcAds (defawey) @i §7
A) HoRTEA edr B) Teiedl Tl
C) i Fedeaty D) e T

Who is the first Indian weightlifter to win the World Title twice?

A) Kunjarani Devi B) Sanamacha Chanu
C) Karnam Malleswari D) Sumita Laha
Answer Key : C Your Response : Not Answered

Question No. 89

TfEeTARSH T SIFHN § S a yenfad Fr B
A) =T B) &R
C) 3@ D) &

'Astigmatism’ is a disease which affects -

A) Ears B) Legs



C) Eyes D) Heart

Answer Key : C Your Response : Not Answered

Question No. 90

fArfaf@a # @ e A R-RAH 9] F TF 3eTor §?
INEGIEEEG] B) 3fSiA
C) grsgretd D) 3ifereliarer

Which of the following is an example of a triatomic molecule?

A) Nitrogen B) Ozone
C) Hydrogen D) Oxygen
Answer Key : B Your Response : B (Correct)

Question No. 91
AR & &I Pdae smgea & [ Fid Far 82
A) Irseafa B) 3Wrseufd

~

C) ¥Rd & HEF =arrefrer D) ehEeT 3reTeT

Who appoints the Chief Election Commissioner of India?

A) President B) Vice-President
C) Chief Justice of India D) Leader of Lok Sabha
Answer Key : A Your Response : A (Correct)

Question No. 92




T SATFHET % o7 HITET=T #r T0TAT HI=w

s I | 10-14 | 15-19 | 20-24 | 25-29 | 30-34 | 35-39
i a,'itq' i 5 10 15 20 10 5
LRE=20
A) B)
12.33 20
) D)
926.4 25.13
Calculate the median for this data.
Dailyincome | 14 1, | 15 19 /90204 25 29 | 30-34 | 35-39
in Rs.
No. of workers 5 10 15 20 10 5
A) B)
12.33 20
) D)
96.4 95.13




Answer Key : D Your Response : Not Answered

Question No. 93
i@ & & Sl q1 TR I[od A Hr Tsreen ar?
A) 3o B) hierer
C) drefergs D) et

S

Which of the following cities was the capital of Guptas?

A) Ujjain B) Kosala
C) Pataliputra D) Kasi
Answer Key : C Your Response : Not Answered

Question No. 94

T g AR T g A o, St B w10 def &1 gdor 3 o & R
YHR ¥ g T FHGT §7?

A) 9T 3cadl & 3R o 3radd gl B) &l 3cdel
C) =l 3raddl D) gdur 3fade g 3R o F 3cdd ¢l

A spherical mirror and a thin spherical lens both have a focal length of -10 cm. The mirror and
the lens are likely to be-

A) The mirror is convex and the lens is B) Both convex

concave
C) Both concave D) The mirror is concave and the lens is
convex
Answer Key : C Your Response : A (Wrong)
Question No. 95
&R & i A El
A) FAHFIT B) #HIS

C) ®sd D) @e



Bases are in taste.

A) Salty B) Sweet
C) Bitter D) Sour
Answer Key : C Your Response : C (Correct)

Question No. 96

ar 9¥¥ P 3R Q, TF it Sfer arelr a7dr F Rodiar frart o Rya o Rigait X 3t Y & wower: Y
AR X #r AR Feer gE A §1 F Har X & 340 A f gl W Aed § 3R el 3w fi
T & AT IET 9o 1 39S a6 9 e aodr Hr AEr H g@El R Y & 170 Hiew drogl
W e & 7 $r iz fhaeh 872

A) 1.5 fafr B) 1 frel

C) 850 #rex D) 400 #eT

Two men—P and Q start from two points—X and Y on opposite banks of a still river towards Y
and X respectively. They meet at 340 m from one bank X' and proceed on their respective
onward journey. After that they meet at 170 m from the other bank "Y' on their return journey.
What is the width of the river?

A) 1.5km B) 4 km
C) 850 m D) 400 m
Answer Key : C Your Response : Not Answered

Question No. 97

e 'R A 5 @ Far g, L' = 1 @r sar &, 'N' & 6 fo@r aar §, 'T & 2 fo@r I« g,
VA 8@ Srar &, 'F & 3 fo@r Siar £, 'S' #r 4 fo@r siar g, ' @ 9 @ arer g, 3R
'G'Hr 7 fo@r Sirar €, ar 425967 fRas faw fo@r aen?

A) STRING B) SITRNG

C) SRTNIG D) TRINGS

If 'R' is coded as 5, 'L' is coded as 1, 'N' is coded as 6, 'T' is coded as 2, 'U' is coded as 8, 'F'is
coded as 3, 'S' is coded as 4, 'I' is coded as 9, and 'G' is coded as 7, what is the decoded form
of 4259677

A) STRING B) SITRNG



C) SRTNIG D) TRINGS

Answer Key : A Your Response : Not Answered

Question No. 98

R e Reost 3 ¥ 3w B G
A) KML B) SUV
C) MOP D) GIJ

Find the ODD one out from the given options.

A) KML B) SUV
C) MOP D) GIJ
Answer Key : A Your Response : Not Answered

Question No. 99

WY 39 B @ qF ferem fr 3y 50 ey A AR @1 3 FqsAT 20 e dlsar 31 AR @ 7w
o 3R FFH 30 A glsar & IR A F a1 AW Fgza 20 A gsar § 3K Bg A 7%
ggaer gl foig A & =X v el gfr et @2

A) 30 #Hrex B) 20 #ex

C) 10 #:ix D) 40 #HIcY
Prakash runs from his home towards east direction for 50 m and then turns left and runs for 20
m. Again he turns left and runs for 30 m; and again turns left and runs for 20 m to reach point
'A'. What is the distance from the point A to is home straight?

A) 30m B) 20m
C) 10m D) 40 m
Answer Key : B Your Response : Not Answered

Question No. 100

AAf@d cAdT T&RT # FRE FA J Fafeya AfSw|




0.21, 0.021, 0.201, 0.102
A) 0.021, 0.21, 0.201, 0.102 B) 0.21, 0.021, 0.201, 0.102

C) 0.21, 0.201, 0.102, 0.021 D) 0.21, 0.201, 0.021, 0.102

Arrange the following decimals in descending order.

0.21, 0.021, 0.201, 0.102
A) 0.021, 0.21, 0.201, 0.102 B) 0.21, 0.021, 0.201, 0.102
C) 0.21,0.201, 0.102, 0.021 D) 0.21, 0.201, 0.021, 0.102

Answer Key : C Your Response : Not Answered
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